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1.(2) S={2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12}
(3) s={x ∈ N |x ≥ 1}
(5) s={x ∈ R|x ≥ 0}

4. B1 ={ A6, A4A5, A1A3, A1A2}
B2 ={ A1A6, A1A2A5, A1A2A3A4}

5.)µ |^úª

A−B = A−AB = AB

A + B = A + (B −A) = A + (B −AB) = A + BA

½

A + B = (A−AB) + AB + (B −AB)

u´

A + B + C = A + (B + C) = A + (B + C)A

= A + (B + CB)A = A + BA + CB̄Ā

= A + (B −AB) + [C − (A + B)C]

6.(1) P(A)=2
5 ×

2
5 = 4

25

/�������¬0�éá¯��/��ü�þ�g¬0§¤±P (B) = 1− P (A).

P (B) = 1− P (A) = 1− 4
25 = 21

25

(2) P (A) = 2
5 ×

1
4 = 1

10

P (B) = 1− P (A) = 1− 1
10 = 9

10

(3) P (A) =
C2

2

C2
5

= 1
10

P (B) = 1− P (A) = 1− 1
10 = 9

10

8. P/:ê�Ó0�¯�A§/Ós0�¯�B§K

<{�> P (A) =
13×C2

4

C2
52

= 1
17

P (B) =
4×C2

13

C2
52

= 4
17

<{�> P (A) = 52
52 ×

3
51 = 1

17

P (B) = 52
52 ×

12
51 = 4

17
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